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la. Let f(z) =2+ > + T - ) 4+t o +---. Find all z satisfying the equation f(z) = —1.
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[8+8+9 points] 2

2. Determine whether each of the following series converges or diverges.
a. Z (Vn+1-+v/n)
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3. Determine whether each of the following series converges or diverges.

In this question you may use the fact that lh% (cos ;L-)l/ﬂc2 — e 1/2
z—

Z (cos( 1/n)

=1 \ '1.

M l/L
a = (@SUIV\}) .,.-7 \Aqu . (@;(’(Kﬂ <<;s°<3 —e ~=+0

=) N n )N X o

= Z(&)L\/A\Y J/Nc’jz) \’j ~TT

n=
b. HZZI(COS(l/n))nS . \/b\ LN U >\,\7—
5 oy T (c») I
n “ C)-‘SU(V\ - n
Q = {(/33(\/(/\\3 =7 \/’/k\l\n \O\w\ = \\N\ ) PN
n-)e= N0 \’ 1 ’_”2
£
_ b (@S'ﬂ
3 xoe _—
y ® n B L L
Loe 2< L = j:@ﬁU&D oy J
P\:\

c. Zln (cos(1/n)) — %Z( cosL,J
| - co5U/)> l K ((ps()(v‘)) >)

n>=
—0.. )i,
(o h“ (udJB) e

e W0 o I A
Ir\'L \/9( “z JE.
\ K (/\((»3 x)\ )> Qﬁ(e ) 2_
X0
L WD
S\\/\gq, C_/:&{@ od Z.’_ (ol @) (\)zf/&/\@) i Y g
2 n=q

=\

e L C[(@b) o

n=(



((5+11)+(5+4) points] a

. 2
4a. A sequence {a, }>°, satisfies ap =2 and a, =3 — ( 2 for n > 1.
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i. Fill in the boxes: a; =| — and a; =| ——
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ii. Show that the sequence {a,}3°, converges and find its limit.
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4b. A sequence {c,}%2, satisfies co =1, ¢; =2, and ¢y = 3¢, — —M forn > 1.
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i. Fill in the boxes: ¢; = 5— and c3 = _é—:?:
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ii. Find the radius of convergence of the power series Z Cx.
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